
R
EL

EA
SE

 E
R

20
18

_0
3_

05

Il presente documento è di proprietà riservata della Euroscreen S.r.l.
E’ vietata la produzione senza autorizzazione

INSTALLATION MANUAL
CEILING TILE HOLDER CT-XL 946

SUITABLE FOR PROJECTOR LIFT MODELS
SI-H XL 300 AND SI-H XL 500

ORIGINAL INSTRUCTIONS IN ITALIAN LANGUAGE
Translation into English language



R
EL

EA
SE

 E
R

20
18

_0
3_

19

L.495 mm

x2 L1093 mm

x2 L993 mm

Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

1.0	 PACKAGING CONTENT

Aluminum profiles of the frame (A) Steel corner brackets, screws and nuts (B)

PCS. 04

PCS. 12

PCS. 12 PCS. 24

Nuts M6

Nuts M6 Nuts M8

Screws M6x16

Screws M6x16 Washers 16x8x1,5

PCS. 12

PCS. 12 PCS. 24

PCS. 03 PCS. 06

PCS. 04

C-shape profiles, screws and nuts (C) Winded rods, nuts and washers (D)

PCS. 12
Nuts Bosch M6 Screws M6x18

PCS. 12

PCS. 01PCS. 06

Brackets, screws and nuts Bosch (E) Installation manual



R
EL

EA
SE

 E
R

20
18

_0
3_

19
Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

2.0	 ASSEMBLY OF THE BEZEL

2.1	 Bezel assembly

2.2	 Assembly detail of the corner

Segment L.1093

Corner bracket

Nut M6

Segment L.993

Screw 
M6x16



R
EL

EA
SE

 E
R

20
18

_0
3_

19

L1 = L2

L1

L2

Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

2.3	 Assembly of the bezel.
	 Once assembled the bezel, check that L1 has the same length as L2

2.4	 Detail of assembled corner bracket

Internal

External



R
EL

EA
SE

 E
R

20
18

_0
3_

19
Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

3.0	 ASSEMBLY OF THE C-SHAPE PROFILES

3.1	 C-shape profiles assembly

3.2	 Detail of the assembly

C-shape profile

Nut M6

Screw M6x16



R
EL

EA
SE

 E
R

20
18

_0
3_

19
Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

3.3	 C-shape profiles assembled

3.4	 Detail assembly of the C-shape profile

Internal

External



R
EL

EA
SE

 E
R

20
18

_0
3_

19

01

03

02

04

Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

4.0	 ASSEMBLY OF THE BRACKETS ONTO THE PROJECTOR LIFT FRAME

4.1	 Assembly of the brackets

4.2	 How to insert the Bosch nut into the spline



R
EL

EA
SE

 E
R

20
18

_0
3_

19
Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

4.3	 Fixing detail of the brackets

4.4	 Detail once the brackets are mounted



R
EL

EA
SE

 E
R

20
18

_0
3_

19
Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

5.0	 ASSEMBLY OF THE WINDED RODS

5.1	 Overview of the winded rods assembly



R
EL

EA
SE

 E
R

20
18

_0
3_

19
Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

Winded rod M8

Winded rod M8

Nut M8

Nut M8

Washer

Washer

Washer

Nut M8

Washer

Nut M8

5.2	 Assembly detail of the winded rods



R
EL

EA
SE

 E
R

20
18

_0
3_

19
Mod. Ceiling tile holder CT-XL 946

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

Installation and maintanance manual

5.3	 Detail of the assembled winded rods


